Sewnor 2. - ECON L{NO’_
@H&\m 1e Exom @
A (250)
0 6 0
Yo(xy %)(:,EZXZD o (g Loy o)k ):u\(qmﬁg\?-_w
T |

antole bobh posile and negphvevabves D lodelie )“‘*—

9 (2 (3)e @ ()T

= x+ly=0 5o A:-'L\l

At d X

= (X \iz)A(i\s ’5\‘1 H((-‘LY)\‘ = 3\{\"3 \(L = —g\(L <0 = Nf‘i[?f"-\fe— definite

U:'(bk\em 13,L Exﬁ@

Q (x'\()’ﬁ) Zx '“(1'* T4l Xy 4 xz f'LY{: Pend Hession 1

Q\A = 'Lx-tla\{ v 1z Q\\(: ?«\l tlax + 12 Q‘L’Z’% *’b&“l‘/

A A e

&0’\ (‘9‘“5"\."\“"*/ c((&xﬂ'\. 2. %( any 3

Q AP =1 is neded for D320 [2;=0)

WiR a=1 @ai( 11V (cmd‘a\ Paina za(uals 0 3 Pasilive- Sewm: definik
Sy im
e A 32&1)‘\', "\A'\s vx 1 #‘:"( azl
e catud & valees {x 1.0\ ————

(H-ADx=0 ~— W-ati=z0



[
o

VR Fg | 0h 0 2l Aab Ry ] 1 0
G & C

Kyd Ryub X3 C °© o 1

0
g
9

r\POd

A
a
5 Az|o
]

——

5:\‘7” b, by +¢’3i"3j s 0

y L,(, =Q & ) Ol b= (by; u"s\ )Gb’ (i)

bﬂ brz bay { b“ bur by
@ G byt Lu, 513 B; Lu‘ b 17'51.
Gu 7% bz (’B b1z Lsa

bu”’u*"} by batbaqbe '*"‘H >‘L byba *"’ubl')*bﬂl’s?
7. 88 by bug b2z bas* Lna,t bbb, 4931 b 13{Lan*¢,?_l.33
L1BL41" 513Lz1 b”b“ 5131"{1. 52.3"1.1.“’331’51 o ;A "u * l’;a

L.J'

L
o
o)

S batbith 9 ) & Dlafr\QLM({)\




-1 -1 5l -1
) Aspbb o F:=@PRE =Ab
\ X
5\4‘;‘."“‘{\ S"‘\tb A1€”3 ac\al
-anlwq,- (4713 ffbu}n 3)\.)

d) 8 4)e(g 1 4) 2 g-geth =0 (178 W)e(4 K A) - y-Teg e g

(€ ¢ WL ) =-31e0e80 =0 MAwal odhegendl

4 = A
-1 ipy! ey ol 9 173 M T o
PZQ(P?)P"(O -_]:Ln—"-::f"? (,...1( Ml- O':_‘ 9
N AL o s _;_l-?
Pfﬂu"zm 1"13
we60)
o) U )-teR'e o cpah s AT
3 (xR e)A(X-LK B )-LBA'S iy (hR3

:.\x‘ﬂ,-_\ﬁ‘b)‘)kf\x’«"%) qm\a - +4 BAY)(AX<38) - T

- X'AXAX'8' e "BX* @AE “ea 8 s XA +Lx 8+ Lex
f.u nvml\us)s)() B P

= X'AX +3(BX)+3BX < X'AX+bX R
—e———— .~

] B -t 1
y \F @ T=X+AB =0 ) B \('x\r =0 s iy smlles) fo;s:lv\»smcw
vXys>0 F vz0 .

-1\

Thes ] IP:—E-)-:MMMRQS X'A)( *B)(
——
Problem 104
Sor) = EVTY shecky eomex G Hlet 3 f -eix\{(mh"i \
.
&L;._.(? {la_}_’ (\+‘~) N e 1 W= N N ) By
Y 2 ! ( \[ -e \{(\ “CL) T Ef[“”ﬁj:"-¥1(“’1\)i

.-lx.[1 \( Ux\() J+-€, \l (1*TS *‘E}X)O

- 2
H:l . E’x (E g >0 I ‘%S“f\’.‘_’\\\i corve X




@ Ny = £ \ PV o Py rexn 3‘“1)(
31 (RY \t ¢ xf) ™M rk\l\\d@‘”'\l N4 \i

J A S
D?)m ’?ﬁ‘l}}:*—,i‘:éxk 1;%@

"
i aﬂ 311_‘" 91!\ Y! @63". \“
) \, B!

20 . K
: TN 7 Eaﬁ“'
Ve T %.“, i 1
Y
' :} x = E‘Jg
F et k
- (%; ) ‘\{(emm\} O‘Y “‘i 3r90[l“nj[ - \I
1 PN

;" k| Qememi e

THYS
Jlalbam

sap | Ffofym 20|
= 8 ( . a\t:‘l' )K\..Mt?’ <

=0 e l\\i

\inear




7
e/
Fle) 5 weﬂ\démd e < WS J~m<\mn M} Sana 83 AY
5 2-f() 2= (kca fre) - 1)

84 Oihce L VD Cenvix gn\r 5334‘6“3"7 Kmﬁ\ Mwl (R a3 kcaf mm.ﬂna

hence bhs waximun. valve mal e on Ine Luvwar\(

oe) nZ Ve Y220 \e‘&\(,_ii
=) Max g Uf\))‘*—‘ wWhan \h“—‘f-,,';o or \/1_‘&‘\[)/'-'-1 o:"\! ﬂ@u?h\-l&cwc

s ‘\l‘w\tﬂ = (GJ ) an/ f“lq,\(ﬂi([,OJ
t\,(OS 3(0) B i f< \) (00) = jw) = “0\ Jue |, ¢ wf&rH (and hep)=lep

\ ~ F’IC‘ 1 1
L\(\fu |2} = 3(\[1:\113 _( «F((l:) (Y, ‘{?j\ s § (P\ ‘:{h,)) - (&(‘C’C:)) \*Yi\tb)

'.m“{ \' Hd)f’z

= ‘f(aﬂ\(.(r?ﬂ\{.,,, rmp 9,,1‘11*:”»1.\‘1/\ - -F(?,n, g M“l)Yl ‘F(au/ -~ M,‘L)‘{"L. @ J
9;\(011): ‘F(aﬁ',-v-jah.?_\ - 'F(J'I'LI "‘;‘o M‘L) = N -”\J k“ 0) F(Q “_“’amh Ff)if:-—-;amLo
D Powes  fined ir D 2 ©,0) 3f Hio=2 0

/
P KO 20 oo s

in \“{44\{1)""(‘9) ond (0"\)
T ——




v Jorgas me%ogl by

{:0\"1* A A X 2 ’\ ’?0‘1\“" A ‘90‘3 @ﬁ/’? ConCNL~
(Ngra), =1)
PPN P @ MO r'\JQ}V ‘00(“4'“ ConCave, WL fmg‘l Q‘hc‘?’\ﬁ)

= ‘mm o axprcked ol KD'\\U thava Cx(leou rm(\i\ (322 Jonpny
iﬂ@#_grewq?/)
P s s W%GUY g“':j b le l??ef\

(rM,\ \/(/\( y.\LSgZeJ w‘\\\ PWh 3Swe 28y shJ(}aﬁ\'.an ? Discws:on)



